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Problem Set No. 1

1) Why is “==(” not a term? (Give a proof).

2) Why is Az < z] the same string as A? (Give a proof by induction on A).
3) Prove that Ft = s — s =r — t =r, for any terms ¢, s, and r.

4) We have shown in class that if F 4+ —.A is inconsistent, where A is a sentence, then F F A. Is this true
for any wif A (not necessarily closed)? Prove or disprove.

5) (The proof-by-auziliary-constant metatheorem) Prove 4.23.
6) Prove the Leibniz Rule.

7) Prove that if F -t; = s; fori =1,... ,n, and A is the wif obtained from A by replacing some (possibly
all) occurrences of t; in A by s;, then
FhF A A

8) Prove that for any A, (Vz)(Vy)AF (Vy)(Vz)A.
Is it also the case that F (Vz)(Vy)A — (Vy)(Vz).A? Prove or disprove.



